A GO A cos A =

5\/3%1 o, tan A ©] ZH?

9
9 \
/6
AT~ —
_— 5\/——"
V6 V2
t A:—:_
an -~ -




@12«/5 @ 11V3
@ 193 ® 183

® 10V3

AB
=V

AB =123

tan 60° =

B
60°
AT, C
60°
- 12,-—’ C




)
o
ko
N
=
1o
B
i
T
kK
-t
o]
=]
ot
B

|
o,
=)
ot

w
+
aQ
2
ot
[\

lo

2\

filo

4
oli

el

g

(]

Atel TARRI EtHE
(sin) (cos) (tan)

52° 0,7880 0.6157 1.2799
i 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764

55° 0,8192 0.5736 1.4281
D 1.1932 @ 1.1933 @ 1.1934
@1.1935 ® 1.1936
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tan 54 ° = 1.3764
sin 53 ° = 0.7986
cos52° = 0.6157
. (F4]) = 1.3764 - 0.7986 + 0.6157 = 1.1935
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sinA + cosA cosA —sinA

®3vi @23 OV @22 O V2

B

11
sin60°+cos60°=‘/7§+§= +2‘/§
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@ sin20° > sin49° @ sin31° > cos31°
@ sin20° =cos30° @ sin45° > cos45°
@sin23° < cos23°

0°<x<45° 2 HYA sinx < cosx ©]2, x =45° 4 o,

sin x = cosx < tan x ©|C}.
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sin(2x — 10°) = ‘/75(0“’ < x <45°) oA
V3
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sin 60° = ojB=2 2x - 10° = 60°

2x = 70°
Sox = 35°
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17. sin(3A-45°) = cos (5 + 15°) A o, tan A xtan B 9] -2 F6HH?

(T, 15° < A < 45°,0° < B < 90°)

@ o @ -1 @1 @ -2 ® 2
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sinx = cosx 21 x = 45° o[t}

3A —45° =45°, A =30° ©]1L, — + 15° = 45°, B = 60° °|t}.
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w2hA tan A X tan B = tan 30° X tan 60° = 75 x V3 =1 o]t}




18. o3 AZH] 25 B3 cos10°—tan 10°+2sin 10° x tan 50 ° 2] G
tde BAR A T34

2= sin cos tan

10° 0.17 0.98 0.18
35° 0,57 0,82 0.70
50° 0,77 0.64 1.20

D 1.15 @ 1.17 @ 1.19 @1.21 ® 1.23

cos10°—tan10° + 2sin10° X tan 50 °
=0.98 - 0.18 + (2 x 0.17 x 1.20)
= 0.80 + 0.408 = 1.208 = 1.21
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Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
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